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Q3 Model Solution – Continued Marking Notes 

(b)  
݁௫ − 1
1

=
2
݁௫

 

݁ଶ௫ − ݁௫ = 2 
(݁௫)ଶ − ݁௫ − 2 = 0 
(݁௫ − 2)(݁௫ + 1) = 0 
݁௫ = ௫݁		ܚܗ		2 = −1	 

ݔ                           = ln 2			 
	or				ݔ = 0∙693	 

 
 
 

 
Or 

 
(݁௫)ଶ − ݁௫ − 2 = 0 

Let			ݕ = ݁௫ 	⇒ ଶݕ − ݕ − 2 = 0 

ݕ =
−(−1) ± ඥ(−1)ଶ − 4(1)(−2)

2(1)
 

=
1 ± √1 + 8

2
 

=
1 ± 3
2

 

⇒ ݕ = 2		or		ݕ = −1	(not	possible) 
ݕ = ݁௫ ⇒ ݁௫ = 2 

ݔ = ln 2			or ݔ		 = 0·693 
 

 

Scale 10C (0, 3, 7, 10) 

Low Partial Credit 
• substitution correct 

 
High Partial Credit 
• correct factors of quadratic 
• root formula correctly substituted 

݁௫ =
−(−1) ± ඥ(−1)ଶ − 4(1)(−2)

2(1)
 

 
Note:  oversimplification of equation (i.e. not 

treating as quadratic) merits Low Partial 
Credit at most 

 
Or 

 
Scale 10C (0, 3, 7, 10) 

Low Partial Credit 
• substitution correct 

High Partial Credit 
• root formula correctly substituted 

ݕ =
−(−1) ± ඥ(−1)ଶ − 4(1)(−2)

2(1)
 

Note:  oversimplification of equation (i.e. not 
treating as quadratic) merits Low Partial 
Credit at most 
 

  


